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1. Write your Roli‘No.'on the top imme‘diéte_ly on receipt
of this question paper. . -~ | |

2. The question paper is di’v_ided_‘into three sections.
3. Use of simple calculator is allowed.

4.  Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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3 I (1) The bilateral:spotfe)'cchén'ge rates between the

Bahrajni Dinar (BHD) th¢ Canadian dollar (Cans)

~ and the Russian Ruble(?) are quot’?d as follows:

Can$/P = 1.5
BHD/Can$ = 5
BHD/R = 7

If an arbitrageur starts with 50 Rl_ibles,- then how
- much will he gain in a single round of arbitrage?

(a) 833

‘(b,)' 6.66
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(c) 3.57
(d) 5.43

W VR (Nd) weEd e (BA$) FR =
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Can$/R = 1.5
BHD/Can$ = 5 .

BHD/R =7 =

o R s 50w & o T , @
oot & T F K o g
,‘(%) 8.33 oA
(@) 6.66
() 3.57

@) 543

(if) What is the purpose of a crawling peg exchange
- rate policy? ' :

P.T.O.
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(a) To maintain a fixed exchange rate with
minimal adjustments.

~ (b) To depreciate the exchange rate at a rate
equal to the inflation differential.

(¢) To allow the exchange rate to fluctuate
freely based on market forces.

(d) To stabilize the exchange rate through

government intervention.
it S i < AR S w2
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(iii) A depreclutlon causes the trade balance to look:
11ke a J because :
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(a) The short term and long term volume effects

of trade adjustments run in the same
dircction.

(b) The short term volume effects of trade
adjustments are quite substantial and thus
outweigh the price effect.

(c) The short term volume effects o’f't_rade
adjustments are quite small and thus do
not outweigh the 'price effect.

(d) The long term price effects of trade

~ adjustments offsets the volume effects.

W%mmemﬁm%a&ﬁ
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(iv) Assume that the current spot exchange rate
between the US dollar (USD) and the Euro
(EUR) is $1 =.€0.90. Now, consider a three-
month forward exchange rate to be $1 = €0.88.

The € is available at a _ against the -
- US dollar: ' :

(a) Fo_rward premium of 8.88%
(b) Forward discount of 8.88%
(c) Forward discount of 6.88%
~ (d) Forward ’preniium of 6.,88%‘
. A AT fF RREY R (qgEd) sk @ (EUR)

a‘:éﬂaaﬁmmﬁhwa $1 = €0.90 Bl 3=, 9
TEY 5 axfavrﬁﬁmuata?r $l—-€088‘1ﬁm

aﬁfi‘a?r'sraza‘,me : Wm%
(%) 8.88% = s@#mﬁm

(@) 8.88% &t W T
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(v) An inv.est‘o.r in Tokyo is considering covered
interest arbitrage between Tokyo and New York.

. The investor observes the following :

Interest rate on three-month Treasury bills in

‘Tokyo: 2% per annum

Interest rate on three-month Treasury bills in

New York: 3% per annum -
'Spot exchange rate: ¥110/$
| Three-month forward exchange rate: ¥111/3

"What is the. co'vlered' interest arbitrage margin

(CIAM) in percentage per annum? - :

(a) —1.0%
(b) —0.5%
(c) —0.8%

o (d) -1.9%

P.T.O.
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=) -1.0%

(@) -0.5%
,(‘J_T).-O.S% )

- (=) -—_‘1.9%

(vi) Which of the folioWing is. NOT a limitati'on'of |

~the absolute purchasing-'power'péri'ty_ theory?
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(a) It ignotes the capital account

(b) Tt does not consider non-traded goods and
services

(‘c). It fails to account for transportation costs
(d) It ap’éurately predicts exchange rates in all
situations | N
a8 27
(=) € Tx‘h ian% L) aﬁan e 8

'(a)us?r{ Waﬁ@aﬁtﬁm@mﬁwaﬁ
m% ‘

(7 )Wqﬁaﬁmﬁmm%ﬁﬁﬁwm%

(H)mwmﬁﬁ%ﬁﬁﬂnaﬁﬁmﬁﬁwmﬁ

HE B

: (vu) What is the prlmary effect of open market sales
of government securltles by the home nation’s:
monetary authormes in the portfoho balance B

approach? |

P.T.O.
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(a) Decreased interest rates in the foreign

country

(bj Apprcciation of the domestic currency

(c) Increased demand for foreign bonds
(d) Reduced risk premiums on domestic assets
ﬁiq?rl%lﬁt G e A ‘eﬁq%vr a”? e mﬁmﬁ&r |

mmmﬁﬁﬁgﬁm%ﬁaﬁmm
mw%? |
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- () ﬁ%ﬁ‘ft m@r'aﬁazﬁ T
) e e AR e ¥
(vii) How does the debt;tc-GDP ratio change over
~ time if the primary deficit is zero?

(a) It decreases at a rate equal to the real
interest rate

et e A Attt
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(b) It increases at a rate equal to the growth

rate of output minus the real interest rate

(¢) It remains unchanged

(d) It increases at a rdte equal to the real

interest rate minus the growth rate of output

ot s e T A - AR e v
2 Y wRefw B 27

.(ﬁ).ﬁmﬁmma%'mmwm_%

(ﬁ)mmaﬁq&fa%mﬁﬁma%-

w%wa%m%
(n)ugmﬁaﬁawar%

()ugamﬁﬁmma%mma&qﬁgat%
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(ix) Unless satisfied domestically, an excess demand

of money would result in an of reserves, -
or a balance of payments _ under the
fixed exchange rates and a under flexible

~exchange rates.

P.T.O.
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(a) inflow, surplus, appreciation
(b) outflow, deficit, appreciation
(c) outflow, surplus, depreciatign

(d)' outflow, deficit, depreciation

'ﬁﬁ-a@wm@a#s‘ﬁ%;ﬁmm

a}qﬁcmq TR W-aﬂm-f?z{zﬁﬁwﬁ
FwET Wﬁﬂgﬁ?&ﬂ?mﬁﬁmﬁ
?%asa _ #rm
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| Tanniania._ It intends to repay the outstandi‘n'g ”

()ai%afg*ermwmquz

(31 )ai%aﬁ; arfﬁimr HeARTE
'(‘ar)-a%aig, T, e |

In 'year 1; the debtldf Y has been incurred by

. debt fully in year 2, Given the interest rate of

. w, what should the primary surplus in year 2

be?
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(a) (I*FW)‘

(5) (1-w)Y

(c) (I-w)

d) (1+w)Y
g 1_#,,mﬁmw_Ywﬁﬁwﬁr%lmm
a2 ¥ T T G ¥ gI oD w
=S R H e, 7 2 F wrufien aﬁﬂq%&mﬁm |
e ? | 3

('E') (1+w)
(@) (1-w)Y
() (1-w)

(|@) (1+w)Y

| :(Xi)' When the value of the mortgage exceeds the

value of the house, - the mortgage is said to be

(a) Ninja
(b) Underwater

P.T.O.
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(c) Crashed

(d) Teaser

ma‘umanvgumz%wia%ﬁm%,ﬁr
TUH H wat et 8

(=) Fen

(@) e
ERS
(%)

(xii) At present 80 rupees exchange to a dollar. These
currencws are assumed to be followmg the
relative PPP theory. What would the new
exchange rate be in case the country w1th dollar

as currency witnesses. 10% inﬂaﬁon’ in this period
as against the one with a rupee and inflation of
20%. | | |

(a) ;60'
(b) 87.28
(c) 40

(d) 73.33
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(%) 160
(@) 87.28
(1) 40 

(tr.) 73.33

(xiii) Assume ‘that W is the money Wages, § is the

productivity per ‘worker and o is the margin
charged, what would the change in price level

be assuming the margin o to remain the same
(a) AP/P = AW/W - Aa/a

AW/W — AB/S

(b) AP/P

(c) AP/P

Ad/6 — AW/W

(d) AP/P = A8/ ~ AW/W

P.T.O.
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(1) AP/P = AB/5 — AW/W
(=) AP/P = A8/8 — AW/W

(x1v) Bank A has liabilities of 900 and assets of 1000
and Bank B has liabilities of 800 and 11ab111tles ‘

of 1000 The cap1ta1 ratio of A and B are,

‘and respectlvely, and their leverage

respectively.

_ ratios are Sai a}nd'
(2) 10% and 20%: 10 and 5
(b) 11.11%, 25%; 9 Ands |
(c) 10% and 20.%; 9 and 8

(d) 11.11%, 25%;10,an.d 5
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k. #
(®) 10% 3k 20%; 10 3k 3
(=) 11.11%‘, 25%‘§ 9_-3%1'8 :
(1) 10% e 20%: 9 aﬁts
() 11.11%, 25%; 10 3K 5
(X.V,) Match_the‘follolwing: )
I. ,Rébert Lucas R A Deficits and debts
"II. John B T aylor ' . B Suxjﬁriée 'Suuppl_'y function”.
IIL Barré- Ricardo * | C Monétéry'Approach to
-propositiqn - Balance of Payments

IV, Mundell and Johnsbn D. Mohetary rule

P.T.O.
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(a) 1-C,11-D, III-A, IV-B
(b) I-B,II-A, 11I-D, IV-C
(¢) I-B,II-D, III-A, IV-C

(d) I-C,II-A, 1II-D, IV-B

Reicias = RaF Sl :
I I8¢ ga A, HIET &) =T
II. ST st ¢ . B. 9UEw TR Be

I V- e e C. TOW Sga= og wes
SRe=m

V. A IR ST D. ﬁﬁaﬁ ISy
(%) I-C,II-D, III-A, IV-B |
(|) I-B,II-A, 1II-D, IV-C
(71) I-B,II-D, MI-A, IV-C

() I-C,II-A, 1II-D, IV-B
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SECTION B
WUE |

Attempt any 6 out of the following 8 questions. Each
question carries S marks. (6%5=30)

el 8 WEl X ¥ R 6 Wl ) vw i v
7 5 A & T

How does a devaluation of a country’s currency affect
its trade balance and aggregate demand? Use the AD-

~AS framework to explain your answer. - &)
a%%%mﬁam%? FE I N T T D R
 AD-AS Hae @1 S9ENT HIRT

Briefly explain the difference betweep‘absolute and
relative purchasing povx;er parity theories. In the light
of above explain the Balassa and Samuelson effect.

(3+2)

ﬁﬁa@zaﬁaﬁwﬁémﬁzﬁf%ﬁmmﬂw
%Wlﬁqﬁaﬁ%mﬁ T IR AAET W
‘ﬁaﬂrma?rﬁm

P.T.O.
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4.  Write short notes on

(i) Taylor's rule in monetary policy.

(i) Monetary Rule in the three equation IS PC Mp ‘
framework | (243) |

iR W SR oo R
) AR R e w B

Gi) W W v 0 G < ¥ A F

. Describe the concept of cyclically adjusted deficit and |
its significance in fiscal policy evaluation. Briefly
mention the steps in the construction of the cyclically
adjusted deficit. o (3+2)

"Wﬁ‘m.ﬂgﬁmaﬁamawsq%w@m
o @ fefo @ T W WA ¥ I AR

E‘Xplain how the Ricardian equivalence proposition
suggests about how the consumers res.pond‘ to change}Sl
in government deficits, Explain the impact of hig

' o1 i ion in the lon
government debt on capital accumulation in the long

(3+2)
Tun. :
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7. Consider the change in the debt-GDP ratio equation.’
Under what conditions do you think the country would
resort debt rescheduling/haircut/debt repudiation?

Explain the rationale behind why the countries would
opt for such mechanisms even when they are aware

about their consequences. “ (3+2)

W‘Gﬁ'ﬁ‘ﬂ‘ mﬂw%aﬁmwﬁanaﬁﬁm
mhqﬁ%ﬁﬁ%mm/ﬁamm
mmm?ﬂ%%ﬁﬁwnaﬁiﬁq%%ﬂ@ﬁ-
o W g wEE 5 TS IR @ SR ¥ T e

8. “The commitment to maintain a fixed exchange rate
~makes the money stock endogenous”. Explain this
- statement in light of the Mundell Fleming model.

(3)

Wﬁﬁaﬁmawwﬁﬁuﬁmwmﬁ
mhm%"sg%amnm%m%mw
ﬁmw. -

P.T.O.
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0.

_ What are the limitations o_f conventional moﬂetary

policy duringa'liquidity trap. situation, and why? Dérive

the LM curve in the presence of a liquidity trap,
| (2+3)
IGRUEIC 1@11% ® ﬁtﬁ' TR vﬂﬁau‘ '—?rf%f N By

o d @zﬁ?mmﬂmﬁ%wwm
- Himl : B,

~ SECTION C
@S

Attempt any 3 out of the followmg 4 questlons Each

~ question carries 10 marks. . (3%10=30)

ﬁﬂ%ﬁaa4mﬁ%faﬁﬁsmaﬁmmlm.
T 10 aa%?ﬂ'%l

10. Write short notes on the following : (lO)

(a) Beggar-thy neighbour policy
- (b) HyStéresis 'ef_fect of 'over_valuzition-

e (c) Reasons for the financial crisis .
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11. (a) Examine the role of portfolio adjust'ments in
exchange rate determination according to the

portfolio balance approach.

(b) Discuss the implications of an increase in the
expected appreciation of the foreign currency and
" an increase in the risk premium on foreign bonds

in the extended portfolio.balanq“e‘ model. (6%‘4)
() NERRE Gger gRes B orgaw, B ® R
X SERRE T S @ S e
(vs:r) ﬁwﬁamaﬁawﬁﬁ%ﬂ‘hwaﬁaﬁm
wragle SR R e W A fiew ¥ 9 D

| e W et AR

P.T.O.



5167 24

13 According to the model introduced p

13.

V4 Df)ﬂ’i!’)u‘.;
describe the time path to a new equilibriyg, exchan

rate when the country unexpectedly Cxpands itg Mon

supply.

ange
ey
(1g)
WWWWWW%W T ety
m%gﬁmmwﬁﬁnmé?ﬁwqﬁ?ﬁ»
ﬁﬁqqzt%wwmrav?a’aﬁﬁm

Assume that the economy is hit by a permanent
negative aggregate demand shock. Use the 3 equation

model to give a detailed period by period explanauon

of the adjustment process. (10)

m%%aﬁquﬁlﬂmmmmamﬁ?
%uw@mmﬁm--« mﬁqam%"%
Wswmmmmms '



